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PAPER - I1I

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.

1.  Which of the following authors is associated with the concept of Geosyncline ?
(1) Penck and Davis (2) Wooldridge and Morgan
(3) Hall and Dana (4) Wooldridge and Lapichon
2. Match List - I with List - IT and select the correct answer from the codes given below :
List - I List - II
(Author) (Book)
(a) K.W. Butzer (i)  Process in Geomorphology
(b) W.M. Davis (i) Geomorphology and Time
(c) C. Embleton, et al (iii) Geomorphology from the Earth
(d) J. Thornes, et al (iv) The Geomorphic Cycle
Codes :
@@ (b) (9 (d)
(1) @) @Gv) G @)
(2)  Gv) (@) @) @)
() @) @ (@) (i)
4 @) @Gv) @ 3D
3.  Which one of the following plateau can be considered as intermontane ?
(1) Brazilian (2) Indian (3) Tibatian (4) Arabian
o-soss | VRCANAN z Faper
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(b) <T=ET. Sfaw (i) frEHRAST T <Eed
(c) H. sHecied, safe (i) MRS wH g o1y
(d) . o9HE, s (iv) < fSamifthes dEsa
FE :
@ () (o9 (d)
1) @) @v) G @0
2)  (Gv) @) @) ()
®) (@) (@) (v) (i)
4) (@) @) @ ()

frafafeaa § & f69 STaUIddig Y8R %8l ST 9l € ?
SfSTerat (2) R (3) fasad (4) STETaTS
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4. Given below are two statements, one labelled as Assertion (A) and other labelled as
Reason (R). Select your answer from the codes given below :

Assertion (A) : Eskers are the features formed due to the depositional action of wind.
Reason (R) : Eskers are the outcome of Fluvio-glacial deposition.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(3) (A) is true, but (R) is false

(4) (A)is false, but (R) is true

5.  Negative movements of baselevel produce :

(I) Rejuvenation (2) Stabilisation (3) Attrition (4) Saltation

6.  Consider the following rock characteristics :
(a) These are layered (b) These contain fossils
() These are transported rocks (d) These are formed in water bodies

Which of the above characteristics is true of sedimentary rocks ?

Codes :
(1) (a), (b) and (c) (2) (a), (b) and (d)
(3) (a) and (d) 4) (a), (b), (c) and (d)

7.  Match List - I with List - IT and select the correct answer from the codes given below :
List - I List - II

(Place of deposition) (Name of deposition)

Channel

(a) i)  Vertical accretion deposits
(b) Channel margin
(

ii) Lag deposits
c¢) Overbank flood plain iii) Colluvium
(d) Valley margin
Codes :

(@ (b) (o) (d)
1) @ @ 3§) (v)
(2) (v) @) @ (i)
() @@ Gv) @ ()
4) @@ @v) @) @

o-soss [ VAN
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. i < e feu T €, ek Y SIfeRe (A) TR TER 1 IT (R) F w9 H femn mn #) A= few o

Fel 4§ Wel I G

AURAT (A) : o F &g foFan & wRor Tt od 21
HTOT (R) : TR Gfitar-ferft f8d & #Ro s ¥
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1)  (A) 3R (R) T w& € 3R (R), (A) FT T =0 T

2) (A) 3R (R) S T E AfHT (R), (A) FT Tl =08 T 2|
) (A) W& T, Al (R) TTerd |
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(3
(4) (A) 7T ¥, AR (R) 9T )

. qASIIT ThRIcH Tiqdl 1 IO ¢ :

1) T (2) el (3) EfTErem (4) HiewH
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(a) ¥ TAER Bt T | (b) T Sframed & ¥
(c) 3 =fed 3 B B d) 3 AR H T |
ST B ¥ HH-H fodivand steraret el o H w2
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(1) (@), (b) IR (o) 2  (a), (b) 3R ()
(3)  (a) W (d) @ (@), () (© N (@)
. gEt - I gET - 1% 91 gafad w¢ R A= fou U § | '@ W) g
Tl - 1 Tl - 11
(Frgra =1 Term) (Frgra =T m)
(a) =4 () o srfyagt fagm
(b) = HIfSA (i) uv= e
() STE® IS =i (iii) Tagdes
(d) Sl s (iv) e stfggt s
%< :
(@ (b)) (9 (d)
(1 (i) (@) @) ()

)

(2) (v) G @ (i)
€) (11) (iv) (@) (i)
4) (iv) (i) (@)
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8.  Which one of the following features is formed when the roof of a limestone cavern
collapses ?
(1) Tarn (2) Polje (3) Swallow hole (4) Doline
9.  Which one of the following is devoid of atmosphere ?
(1) Mesosphere (2) Stratosphere (3) Magnetosphere (4) Thermosphere
10. Given below are two statements, one labelled as Assertion (A) and other labelled as
Reason (R). Select your answer from the codes given below :
Assertion (A) : Presence of CO, in the earth’s atmosphere is essential.
Reason (R) : CO, can absorb heat.
Codes :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false
(4) (A)is false, but (R) is true
11. Match List - I with List - IT and select the correct answer from the codes given below :
List - I List - II
(Gases in the atmosphere above (Altitudinal range)
100 km altitude)
(a) Nitrogen (i) 200 - 1100 km
(b) Oxygen (i) 1100 - 3500 km
(c) Helium (iii) 100 - 200 km
(d) Hydrogen (iv) 3500 km and above
Codes :
@@ (b) (9 (d)
M) Gv) @ 6 G
@ ) @ @ @)
@) ) @) @O @)
@ @ O )
o-soss | IUENANI ; Paperm




8. 9 U AR el &g 9l ¢ ol Frefafed 8 & & § oThfd adt 8 2
1) =H (2) e (@) faea Iy (4) SrdrEd

9. Tr=fafed # @ &9 @1 aRgHea &1 few 7= 8 2
(1) HeTEY Hed (2) HHA™ Hed
(3) e frer & (4) o aTgHEd

10. 9 < wed feu Tu E, w F tfreRer (A) 3R T I ®wIOT (R) % ¥ H fean o ¥ A few o
53§ | IR 9
AT (A): el & agHSA H CO, Hi Iufeafd semas 2|
IO (R) : CO, A9 & eI L el ¢ |
e :
1

(1) (A) 3R (R) < & ¥ 3R (R), (A) F1 & =A0e T
2) (A) 3R (R) S 9t € AfRA (R), (A) T &I =20 T 7
(3) (A) W T o (R) Terd &1
(4)  (A) TTerd &, AR (R) WE €

11. G - I gt - 11 o 91 gafad ®{ iR 7= fou U e 9 w@d s e

el - 1 g - 11
(arEea | 100 fw.t. =t (SemE 3T )
FHaE & Fu )

(a) B (i) 200 - 1100 fe. 9.
(b) AT (ii) 1100 - 3500 f.#.
(c) Eifaew (iii) 100 - 200 f. .
(d) wESSH (iv) 3500 fR.H. 3R 398 IW
< :

(@ () (o (d)
iv) @) () (i
(i) () () (v
i) @) (1) (v

(i

@ @) @) (i)
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12.

13.

14.

15.

16.

17.

Given below are two statements, one labelled as Assertion (A) and other labelled as

Reason (R). Select your answer from the codes given below :

Assertion (A) : Tropical cyclones have a life span of about one week time.

Reason (R) : They can produce low amount of rainfall due to low atmospheric pressure.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(3) (A) is true, but (R) is false

(4) (A)is false, but (R) is true

Which one of the following is essential for the formation of equatorial westerlies ?

(1) Large-scale earthquake over the equator.

(2)  Shifting of trade-wind belt towards poles.

(3)  Shifting of polar easterlies towards equator.

(4) Large-scale forest-fire in the equatorial rain forest.

A type of climate after Koppen which is characterised by an almost uniform distribution of

precipitation throughout the year with the precipitation for the driest month more than

6 cms. and a very low daily range of temperature is devoted by :

(1) Aw (2) Af 3) Am (4) As

Which of the following is a local cold wind ?

(1) Chinook (2) Bora (3) Foelin (4) Khainsin

At which of the following altitudinal ranges ozone is found in concentrated form ?

(1) 10-25km (2) 15-35km (3) 35-50 km (4) 50 -65km

Identify the correct normally occurring life cycle of frontal depressions from the following :

(1) 1-2days 2 - 3 days (3) 3-4days (4) 4-5days
o-sos [ {1 \||\|“H|||\|!|\|\||H|| : —




12.

13.

14.

15.

16.
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(A) 3R (R) SHI @&l € @R (R), (A) ! T& =08 B

(A) 3R (R) THT €l € AT (R), (A) FT Tel AT 7 2|
(A) T&t T, AfFT (R) TTerd 2|

(A) TTeTd B, Afe (R) TEt 7
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1)
()
)
4)

4

o™ agen gansti % o & fau frefafed § @ = emevas 72
(1) =@ & W 92 TN T &

(2) gdi H R TT - T de w1 fowerd S

(3) yHEAE@ H AR Yera qEigad i forem

(4) foyada aul a9 ¥ 92 T W IEHa
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HIMA & TR I8 Sy, g auv &t A1 99 a9 e 999 Wl ¢ T 999 &6 7 |
o7 Y G 6 WA T eafars & qen <R Ao =aw |, TR % g sifewa i ot €2

1) Aw 2) Af 3) Am 4) As

frefefaa § @ =9 T oid 9em ® 2
1) fag=® 2) & (3) ThIdHA (4) @THF

frefafad § 9 fog =K W A 999 ©9 § 98 St © 2

(1) 10-25fk#AL.  (2) 15-35f®R#H.  (3) 35-50fkH.  (4) 50- 65 fw.H

frefafea § 9 9 sTaee &1 9= ST =k &1 J& 989 HI9U :

1) 1-2f 2) 2-3fa (B) 3-4f (4) 4-5f
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18.

19.

20.

21.

3) 6°C

Which one of the following is correct arrangement of oceans in ascending order of their size ?

Match List - I with List - IT and select the correct answer from the codes given below :

List - II
(Currents)
El - Nino
Kuroshio
Monsoon Drift
Gulf Stream

Match List - I with List - II and select the correct answer from the codes given below :

List - II
(Thermal layers)
(i) Cold
(i) Cool
(iii) Warm
(iv) Thermocline

Maximum density of sea water is at temperature :
(1) 2°C (2) 4°C
(1) Indian - Arctic - Atlantic - Pacific
(2)  Arctic - Indian - Atlantic - Pacific
(3) Pacific - Atlantic - Indian - Arctic
(4) Atlantic - Pacific - Arctic - Indian
List -1

(Oceans)
(a) Indian (i)
(b) North Pacific (ii)
(c)  South Pacific (iii)
(d) Atlantic (iv)
Codes :

(@ (b) (o) (d)
M Gv) G @ 0
@ @) @) O @)
G) O Gv) (i) )
@ @ O G G

List - I

(Ocean depths)
(a) 0-500 metres
(b) 500 - 1000 metres
(c) 1000 - 1500 metres
(d) > 1500 metres
Codes :

(@ (b) (o) (d)
O O @ @) @)
@ G @) @) 0
@) Gv) @ @) 0
(4) @) (@Gv) @G (i)

o-sos [ NN
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18.

19.

20.

21.

)
o-sos ]

freafefad § @ fFa aoam | 9qst STt 1 99 gad 31fHe 2ar § 2

(1) 2°C ) 4°C 3) 6°C (4) 25°C

frefafad # 3 SThR o STIHR dgd Y H HEMFRI %1 i 91 7 @& § ?
(1) T&= - Arhfes - sreeifes - yaid
(2) 3AThfEH - fe - sreaifes - weid
(3) URIG - Tecifes - fog - sTehfean
(4) Tedlfesm - URMd - ATehicen - fe<

At -1 o T Gl - 11 Gt e AR = ST 10 el # 9 |t S g

T - 1 T - 11
(TETHTT) (8TTT)
(@) fe= () ot -
(b) ST T (i) TR
(c)  feror gerid (i) A fgw
(d) eredifeh (iv) Te® &M
e :
@@ () (9 (d)
1) (v) (@) @) ()
(2) @) @) @ ()
G @ (v) (@) (i)
4) @) (@@ (@v) (i)
Tt - 1R Gl - 11 1 gaferd Y iR A9 feg 1o e & wét e g
T - 1 T - 11
(FETETTR TTETs) (AT %)
(a) 0 -500 X () 9@
(b) 500 - 1000 HreX (i) ¥frae
(c) 1000 - 1500 Htex (i) 30T
(d) 1500 9 Afek Hiex (iv) dT9 - JImr
e :
(@ () (9 (d
® @ @) 3§D (Gv)
(2) G (@) (@v) ()
G) (v) () () (i)
4) @) (v) @ (i)
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22.  Ocean waves obtain their energy from :
(I) Solar system (2) Hot spring (3) River water (4) Blowing wind
23.  Opver the past century world sea levels has risen by around :
(1) 15 cm (2) 25 cm (3) 35cm (4) 45 cm
24. Identify the correct sequence of vegetation belts in an ascending order in mountain
environment from the following :
(1) Submontane, Montane, Subalpine, Alpine
(2) Alpine, Subalpine, Montane, Submontane
(3) Montane, Submontane, Alpine, Subalpine
(4) Alpine, Montane, Subalpine, Submontane
25. Who was the first person to divide the circle into 360 degree ?
(1) Ptolemy (2) Herodotus (3) Eratoshenes (4) Hipparchus
26. ‘There is a strong relationship between environment, image and decision making.” This
statement pertains to :
(1) Humanism (2) Behaviouralism
(3) Radicalism (4) Welfare Approach
27. Who are considered as the founders of Mathematical Geography ?
(1) Plato and Aristotle (2) Thales and Anaximender
(3) Hecataeus and Herodotus (4) Ptolemy
28.  Who wrote the book Meteorologica ?
(1) Aristotle (2) Posidonius (3) Plato (4) Thales
o-sos [N 3 Fapert




22. T ol Frefafea & @ w8 @ St g S €2

(1) R gomet (2) T 9 T =R (@) T SA  (4) o= g

23. fourd vraTedt % <R fava § @z % R H o feat gfg gE €2
1) 1594, 2) 2594, (3) 359,  (4) 459

24, Trefafed § | qada 99i@ww § 9gd §U A § aFedids @ &1 ¥el A T8y

(1) YT, e, o7 3TeuTed, STedTsH
(2) STCUTEA, 3TY:3TCUEA, Jadd, AL qadr
(3) T, ST TN, TS, YU
(4) ST, T, STY:STCUR, AY:qady

25. ga & 360 feult & faunfsra w1 amet go@ yom =afed frefafed # @ w0 92
(1) e (2) TRER™ (3) TEET™ (4) feurem

26. ‘vgieRuy, yfafars iR fofg o1 & o= T Gved ey 2§ | 98 S feud g ® 2
(1) HAFEdAER (2) ATERAR
3) efqere (4) FHEUERN g

27. IO i % HEATTE =g AT W § 2

(1) e 3R e 2) g iR T

(3) THRIW R EEH (4) <t

28. HIRERAISRT fomde feaq fad off ?

2) st (B) w= (4) o

1) (
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29.

30.

31.

32.

33.

Who laid the foundation of modern geographical thought ?
(1) Humboldt and Ritter (2) Kant and Varenius
(3) Hettner and Richthopen (4) Humboldt and Davis
Read the following statements :
(a) Ratzel dominated German Geography in the second half of the 19th century.
(b) Ratzel coined the term Anthropogeographic.
(c) Ratzel was highly influenced by Darwin’s theory of evolution of species.
Which of the above statements are correctly associated with Ratzel ?
(1) (@), B)and () (2) (a)and (b) (3) (b)and (q) (4)  Only (c)
Which is the correct sequence in chronological order of the following Greeks who contributed
vastly to the evolution of geographical thought during the ancient period ?
(1) Aristotle, Eratosthenes, Anaximander, Ptolemy
(2) Eratosthenes, Anaximander, Ptolemy, Aristotle
(3) Anaximander, Aristotle, Eratosthenes, Ptolemy
(4) Ptolemy, Anaximander, Aristotle, Eratosthenes
Which one of the concepts describes the absence of cities and towns within a radius of 75 km
from a large city ?
(1) Urban Clusters (2) Urban Dispersals
(3) Urban Agglomeration (4) Urban Shadows
How physiological density of population is defined ?
(I) A ratio between total population and total area.
(2) A ratio between total rural population and total rural area.
(3) A ratio between total population and total cultivated area.
(4) Both (2) and (3).
o-sous [ | HLHEA AN 1 Fapeca
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33.

YT siiifore faemem =t sur R feem el ?

(1) Fweee 3R ReX 2) e iR IAfEE
(3) e IR R=dma (4) TR IR faw
Frefafed sl #1 afet :

(a) Yoo w1 19 < vIas! o IAUY § SHA o § SifHued )

(b) S A TSR veg faafed |

() Yoo =i ¥ whe % fae ¥ fogr @ srafus g 9

STga B 9 S ¥ HoH LTod ¥ e qrig § 2

(1) @, ) F(© () ()3 (D) (3) (b) ¥R (o) (4) I (o)

frfafed o SR AER AT 1 @& 8 1 ¢ =i U= & § e foamem & faw
o STfye anee fohan ?

(1) oI, $Ee™uf™, Tiaie, e
(2) FEmdRE, Ty, doH, e
() TAFIHER, 3, TEmuAf, et

) e, T, o, fraat

4

frAfafed § @ ®F @ TauRo T 98 TR &1 75 fF.o. #i aRfy & sraia sl oik w5l &t
sTufeafa = aflq Fdt 82

(1) TR ) T FEH
(3) TR EE (4) TRE BRI

SN % T e & f7= o 9 8 gftnfua faan sma g2
(1) Fa TTHESN R FA & F o= ST |

(2) FA U SAEEA AR FA YO & F = A |

() FA TTHESA R FA F &F % o9 I |

(4) (2) 3R (3) EMI|
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34.

35.

36.

37.

38.

As per the estimate of 2014, how much population of the world is found in Africa ?

(1) About 12% (2) About 14% (3) About 16% (4) About 18%

The ‘Triangular Pattern” of rural settlements develop generally :

(1) at the bank of the straight rivers (2) at the confluence of two rivers

(3) Dbetween two hills (4) at the confluence of two rivers and one hill

Which one of the following techniques would you consider for estimation of requirements of
population in an area for planning allocations ?

(1) Carrying capacity analysis (2)  Cost-benefit analysis

(3) Population projection (4) Rank-size rule

Which of the following exhibits “cumulative percentages of population against cumulative
percentages of area” ?

(1) Gravity Model (2) Beta Index (3) Ogive Curve (4) Lorenz Curve

The density of population is highest in which of the following states of India according to the
census of 2011 ?

(1) Bihar (2) Punjab (3) Uttar Pradesh (4) West Bengal

)
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34. 2014 % TN & HR, fava 1 fhal S st § T St § 2
(1) eM912% () TWWT114%  (3) WIW116%  (4) T 18Y%
35. TTHIw St 1 feria gfaen’ smHd W fre & @ el faefad dar e ?
(1) el feai & fem w ) < Al &% FH W
(3) < wEIfedl & = (4) < e SR TH TR F W W
36. AT el o foaq fhdl & ¥ S9@ o1 Tavdsdiell & II9F & fau fefafaa 9 & fog
TehTeh T 37 foram &3 ?
(1) &rwar foreetsor ST (2) W - e fergeor
(3) SEEEA STIAT (4) wife wa fE
37. ‘&3 w1 Hot YA % qehTel SEe & et gfava’ frefatad § 9 f5E yefifd #ar ®72
(1) et viea 2) eI gEHE  (3) A HwA (4) NS wd
38. ¥ 2011 I SFIUAT & STIHR 9YNA § M@ &1 Fod 3Afesh ¥cd frefafed & 4 fra & 82
1) fa=r 2) U= (3) SW U™ (4) ftem ST
osors [ HREHHANAANI 17 Papec



Consider the following road network diagram of an area :

39.

Select the correct connectivity matrix for the above network :
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40. Which of the following industrial regions of India is called as ‘Ruhr of India” ?
(1) Bengaluru - Tamil Nadu Industrial Region
(2) Chhota Nagpur Industrial Region
(3)  Vishakhapatnam - Guntur Industrial Region
(4) Hugli Industrial Region
41. Match List - I with List - IT and select the correct answer from the codes given below :
List - I List - II
(Industries) (Activity / Technology)
(a) Cottage (i)  Petroleum refining
(b) Small (i) Information Technology
(c) Major (i) Locks Manufacturing
(d) Foot-Loose (iv) Embroidry
Codes :
@@ () (o) (d)
O O ) @ G
@ ) @ @) 0
@) Gv) @) @) )
@ @ O )
42. In which Island the ‘Rice Bowl" of Japan is situated ?
(1) Kyushu (2) Honshu (3)  Shi Koku (4) Ryuku
43. Which one of the following authors suggested a fivefold divisions of adopters on the basis of
the time lag between receiving and acting upon new information as shown in diagram
below ?
! ,
R 1
W= -
S5 . |
2y o
S = 0 mi mig
%2 RS
T 2 Qi >0 o O itD
£ 9 SiHE 2R
8 & <im=E A=A
~ %t 34% i 34% i 16%
X-20 X-o X X+o
Time of Adoption
(1) E.M. Rogers (2) L.W.Bowden (3) Z.Giriliches (4) T. Hagerstrend
o-sos [ [[[HHHMNIANIN 2 Papec1



40. 9Rq ¥ frafafea et & 3 fed = A% sfean’ wer S g ?

(1) dqqe - dfherg Sl &=
(2) B AR SEnfitn &9

(3) fowmEmUET - T AEnfitn &=
(4) e iR &=

41. G- 1 G - 11 & o gaferd w¢ o = fou o el & 9 el S 61 51

Heft - 1 et - 11
() ( nifafafer/drenfirent )
(@) FR () Ueiferm T
(b) <H (i) = drEnfiTent
() 9ed (iti) e fafwfo
(d) o (iv) HIMQmERId
< :
@@ () () (d)
1 @ (@v) (@) (i)
(2) (@) @) @) @
@) (v) @) @ 3G
4) (@) @ (3D ()

42. &g €9 o ST 1 = w1 wer’ froq ®2
(1) == (2) = (3) it =g 4 o=z

43. frfafea ¥ 9 g o@s 7 78 IR 3Tfihd H IR HRATE HH & THT & o9 & FR &
YR W 9T T[T A1 ufiardd 1 gara fean ® S fo e few T ermm § et wen €2

Sitfieha gfaqeraar —
I\
3

JcIoh THY Sh1S |

(1) 3T TR 2) TASEY d=8ed (3) e fiifa=sw  (4) 31 gwde

o-sos [ FHL A 2



44. Match List - I with List - IT and select the correct answer from the codes given below :
List - I List - II
(Authors) (Techniques)
(a) P.R. Gould (i) Crop-Combination Analysis
(b) E.L. Ullman (i) Concept of Economic Rent
(c) J.C. Weaver (i) Game Theory
(d) D. Ricardo (iv) Flow Theory
Codes :
@@ () (o (d)
M 6 6@ @ G
@ G @ O G
@ @ ) @ 0
@ @ 6 6@ G
45. Which one of the following authors examined the structure of urban settlements prior to the
impact of large-scale industrialisation in book ‘The Pre-Industrial City Past and Present’ ?
(1) M. Pacioue (2) G. Sjoberg (3) P.Hall (4) D. Dwyer
46. Match the List - I with List - IT and select the correct answer from the codes given below :
List - I List - II
(Human Races) (Majority of persons from)
(a) Mongoloid (i)  Sri Lanka
(b) Caucasoid (i) South Korea
(c) Australoid (iii) Ethiopia
(d) Negroid (iv) Germany
Codes :
@@ () (o) (d)
O O G (v G
@ (@) @) 0 @
@) (v) () @) @)
@ @ O )
o-soss [ | AL 2 Faper




44, eI - 1F Gl - 1 F 9 GAfad w¢ AR = fu 10 w2 § 9 9@ S| & 997 &

Tt - 1 Tl - 11
(T (TR Teh)
(a) L3R =TS () HHA-FAN faverm
(b) EUA. AT (i) T Y&+ sTaurom
(c) SLE R (iii) 9 fagia
(d) 2. et (iv) vl fagia
e :
(@ (b) (o) (d)
@ @ G (v) (i)
(2 (@) @Gv) @ ()
®) G () (@v) ()
(4) (v) (@) (@) (i)
45. fr=Afafed ¥ @ fea das 7 't -sefeaa faet e U Ieie’ Tme geas o sieifie & =
JTE § e TR Il i G HY S 2
(1) Tw. fgsn (2) . Sfeet (3) . ™ (4) S TR
46. G - 1 G - 11 & T GAferd ¢ iR = fou To e & 9 Wl S 1 =57
Tt - 1 Tt - 11
(AT gATTera) (R Frrefefiaa 29T &« e e der | )
(a) HIAES () i
(b) HTEHIES (i) aferor it
(c) STgAEE (iii) g
(@) frmee (iv) A
< :
(@ () (o) (d)
M @ @) () (i)
(2 (@) (@v) @ ()
@) (v) () (i) (i)
(4) @) @@ (i)
osors [ HIFHIIAN IH\I\I .




47.

48.

49.

50.

51.

52.

Which of the following water ways has more politico-nomic significance ?
(1) Palk Strait (2) Malacca Strait (3) Suez Canal (4) Panama Canal
H.]J. Mackinder was the professor of which subject at London University ?
(1) Political Science (2) Economics
(3) Geography (4) Social Anthropology
To control pollution from ships and offshore platforms is taken care of by which of the
following acts provision by the Government of India ?
(1) Major Port Trust Act, 1963 (2) Merchant Shipping Act, 1958
(3) Maritime Zone Act, 1976 (4) Indian Ports Act, 1908
Which of the following is not correctly matched ?
(1) Batwa Tribe and Congo Basin ~ (2) Ruwala Tribe and Central Iran
(3) Inuit and Canada (4)  Yukhagir and Siberia
Which one of the following author’s theory of primate cities focuses on the forces of
agglomeration and cumulative effects of agglomeration in the growth of large cities ?
(1) Walter Christaller (2) GK. Zipf
(3) C. Robert Mayfield (4) Mark Jefferson
Which of the following activities does not come under the scope of Drought Prone Areas
Programme ?
(1) Development and management of irrigation resources.
(2) Soil and moisture conservation and afforestation.
(3)  Restructuring of cropping pattern and pasture development.
Flood control and soil erosion.
cos I~~~ -




47. Trefafes # 9@ feg Somnt &1 sifus aoifas - ofis Ted § 2
(1) T TASHE AL (2) TAFRI A SHE T
(3) T TR (4) T AR
48. TAS. Hih<x ded favafaamea d fr=fafad § 9 feg fauva & IR 92
(1) i fom (2)  srefemrE
(3) (4) wEIS o
49. U o @S AU qead] RICHMT § B ATl IgU0 R HRA TR & FEfatad fea sfufeeg &
T G =07 Tt ST & 2
(1) T& 909 = a9, 1963 (2) afufres d9iq afEed stffTem, 1958
(3) wHfs® &7 sfafem, 1976 (4) uRdE ToA erfuftEm, 1908
50. frefafed § 9 w9 92 €n 9 gafaa 7@ €2
(1) Sqan SHsa SR Hi 9= (2) TATCH SIS SR HeA T
() YL 3R A (4) QIR IR FEafE
51. Tr=fafed 9 @ fe o o grsde f9et o fagia o o< vl o faem o T i vl qen 9
& Holt goTel R Ted 31fesk oe fean R 2
(1) @R R @) sh# 5w
(3) H. T Ahice (4) TR STREA
52. fr=fafaa ® @ w9 wfafafy g gofad &7 & ofaia & o1t €2
(1) foarE gaeE #1 fawm ok yeim
(2) &1 SR ST HET0 HI AT
(3) YA YTa®Y T YA T IRATE ok
(4) o T R ger oTReH
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53. Which one of the following forces has expansionary momentum emanating from the centres
of economic expansion to other regions ?
(1) Centripetal (2) Centrifugal (3) Gravitational (4) Pull
54. Growth Pole Model is postulated by :
(1) Smith (2) Perroux (3) Eratosthenese (4) Haggerstand
55. Which of the following sets of Macro and Meso regions were delineated by the Town and
Country Planning Organisation of India ?
(1) 13 Macro Regions and 32 Meso Regions
(2) 15 Macro Regions and 61 Meso Regions
(3) 7 Macro Regions and 42 Meso Regions
(4) 13 Macro Regions and 35 Meso Regions
56. Match List - I with List - IT and select the correct answer from the codes given below :
List - I List - II
(Zones) (Characteristics)
(a) Non Ecumene (i)  Very Scattered Economic Activities
(b) Intensive Ecumene  (ii) Rural Occupancy ; extensive type of agriculture
(c) Sporadic Ecumene  (iii) Empty space with no foreseeable development
(d) Extensive Ecumene (iv) Urban Occupancy and industrial patterns, intensive
agriculture
Codes :
@@ (b) (o) (d)
1) @ @v) @G @
2 @ @@ @Gv) (i)
(¢) @) @Gv) @O ()
4 (@(v) @) @) (i)
o-sos [ LA 2 papeca




53. frefafed & @ = ot vt o fowaranet wfa gt 8 St enfofe fomm & Fsi 9 TRE S o7 &5l
T ST & 2
(1) =t (2) Sfedst (3) TEETRESR (4) FHW
54. WY U Aied & @y feAfated § 9 frget €2
(1) foo 2) U= (3) TR (4) FWES
55. 2T U el WA SARTTESIvH 31t sfean gri frfafad o & &9 9 ged IR Heaw &30 o T9gl &
Hmerg foman T § 2
(1) 13 93 &7 3R 32 7eaw &
(2) 15 98d & IR 61 HEAH &
(3) 7 9%d & 3R 42 7AW &=
(4) 13 92d & 3R 35 A=A &
56. o - 1 &1 ol - [1 3 H19 Gafad ¢ iR 79 U 70 el § & | S 1 997 &
Tl - 1 T - 11
( &t/ ) ( fergremn)
(a) o & (i) oTcafees genrol emifefer wifafafemn
(b) T A & (ii) IO SE; foreqd TR T iy
(c) FFAALAR AT & (i) el T & fore @ret e
d) fowga o= &= (iv) TR @ AR ST yfawy, T Hfu
< :
(@ () () (d)
1 @) @) @) )
(2 @ @) (@v) (i)
@) (@) @Gv) @) ()
(4) (v) (@) @) (i)
oo [N .




57. The first master plan of Delhi was passed in which of the following year ?
(1) 1952 (2) 1962 (3) 1965 (4) 1968
58. Match List - I with List - IT and select the correct answer from the codes given below :
List - I List - II
(a) Central Place Theory (i) Land use pattern in large cities developed around a
number of discrete centres rather than a single
centre
(b) Multiple Nuclei Theory (ii) Position of the breaking point between two towns
() The Law of Retail Trade  (iii) Hexagonal Service Area
Gravitation

(d) Breaking Point Theory (iv) Predict the proportion of retail trade that two towns

will derive from a settlement lying between them

Codes :

@@ (b) (o) (d)

O O (v @) G

@ ) O @

@) ) O () G

@) () @) @) 0

59. Match List - I with List - II and select the correct answer from the codes given below :
List - I List - II
(Zones) (Definitions)

(@) Slum Zone (i) Lack in prestige and characterised by low grade retail
stores, warehouses and wholesale trading premises and a
high proportion of vacant property

(b) Zone of Assimilation (ii) Extensive areas of low density housing

(c) Suburban Zone (iii) Extensive redevelopment and spread of shops, offices and
hotels into former residential areas

(d) Zone of Discard (iv) Residential belt of considerable density surrounding the
C.B.D.

Codes :

(@ (b) (o) (d)

1) Gv) @) @ 6

@ G @ Gv) )

@) O Gv) @) )

@) ) @ @ @)

o-sous [ [ HIATNAII 2 —




57. fr=fafaa § 9 forg o4 | foocdl 1 9gat A< w oiika foman & on ?
(1) 1952 2) 1962 (3) 1965 4) 1968

58. eIt - 1 ! Geit - 11 & 19 GAfad i aen = fqu 70 Fi § 9 T IO H1 997 HY -

el - 1 el - 11

(a) H=IF WM H fHgia (i) T TR Tk THAd ggd TRIA hai H fH ST A1
ferenmd

(b) E F=h (TG (i) T IRY & = dfhT w@mEe o feufq

(c) U AR MHHV & oM (i) TSYSTHR Fam &=

) afET arEe o (iv) UY GeU AR & ST Ht Jfaeramoft w3 i < e
3eh ofte feord o © 9T 3

< :

@@ () (o (d)

1 @ Gv) () (i)

2 @) @ G ()

®) (@) (@) (v) (i)

4) (@v) @) @) ()

59. eIl - 1 Geit - 11 % |1 gafad &< R 9 fau T el & ¥ T 3 &1 =97 a8

el - 1 gt - 11
(&1/) (aftureTd )
(a) wfeH ot &= () ufasr § & T freeife & et BR, Her T iR o
IR UG T Welt Fufa & T g
(b) TEHEA & (i) ¥ T AT A & fasqa &=
(c) ot T & (ili) TR T SATATHA & H AIE Ak IR gHEI, HEAferal
REGIEI R IR
(d) S & fewrre (iv) HL&E & = SR iy w e agt
e :
(@ (b)) (9 (d)
(1) (v) () @) ()
(2 G) (@@ (v) (i)
€) (i) (iV) (11) (11)
(4) (i) @

||H\|“||||\|||H||M||\|HH|||||H||“II\HH\I\HII\ 2

¢
oo
(=}
—_
6] ]



60. Match List - I with List - IT and select the correct answer from the codes given below :

List - I

(National Park)

(a) Fossil

(b) Brahmagiri
() Guindy
(d) Rohia
Codes :

(@ (®) (o (d)
M @ @) () (i)
(2 (@) @Gv) G @)
@) (v) @) @) ()
(4) () (Gv) @) ()

List - II

(State)
(i) Himachal Pradesh
(i) Madhya Pradesh
(iii) Tamil Nadu

(iv) Karnataka

61. Given below are two statements, one labelled as Assertion (A) and other labelled as
Reason (R). Select your answer from the codes given below :

Assertion (A) :

Reason (R) :

Indian economy is diversifying its base towards non-primary activities.

During Post-Independence period service sectors are slowly but gradually

increasing its contribution to Gross Domestic Products in India.

Both (A) and (R) are true and (R) is the correct explanation of (A)

Both (A) and (R) are true, but (R) is not the correct explanation of (A)

Codes :

(1)

(2)

(3) (A)is true, but (R) is false
(4)  (A) is false, but (R) is true

62. The Rajasthan Canal (Indira Gandhi Canal) draws its water from the rivers :

IHIIHIHIH

Yamuna river

Chambal river (3) Ravi (4) Satluj and Beas
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60. T - I &I eIt - I1 % 1 gafaa ¢ R frefafed w2 § 9 @& W 1 =91 a8

61.

62.

et - 1 et - 11
(Tt Sem) (TTSH)
(a) STy () feumee wew
(b) SRR (i) WA I
() THE (iii) dfHATTg
(d) e (iv) wAeH
T:Ed‘:
@ @) (© (@
1 @ @) @) (iv)
(2) i) (@v) () @)
(@) (@v) @) @ (i)
(4) () (v) (i) ()

= 31 o fou MU €, w1 AfieRe (A) 3R TER 1 ®RUT (R) % &9 H fean 7w €1 7= few e
%21 1 & WA TR AR ;
AMTRIT (A) 1 IR tefeaeen T-wafe fafafes o1 fagn # o1 snum fafay w0 @R

HIUT (R) : AR HIA § Hal o & - WY IM:-IM: 9IRA o Hohal e] A6 H
STOHT FRTEH e 38 € |

< :
1) (A) 3R (R) IH Tl € 3R (R), (A) T Tl =TT B

(A) TR (R) ST € & &fT (R), (A) T T =ame &l €1
(A) TE 8, AfhT (R) ToIa B

(A) 7T B, AR (R) 9T )

2

(1)
()
)
4)

4

TrEI TR (3feq Tl 71eX) ot fefafed fedt & et o 2ar e
(1) =T TS (2) == T& (3) e (4) Fags AR =™

o-sos [ FHL A s



63.

64.

65.

66.

67.

Which of the state Union Territory has continuously maintained favourable sex ratio since
census are conducted in India ?
(1) Arunachal Pradesh (2) Meghalaya
(3) Kerala (4) Puducherry
Which group of states GDP share in 2013-14 was greater than population share and area
share ?
(1) Arunachal Pradesh, Nagaland, Assam, Meghalaya, Chattisgarh and Rajasthan
(2) Uttar Pradesh, Bihar, Madhya Pradesh, Jharkhand, Rajasthan, Uttarakhand and
Manipur
(3) Maharashtra, Tamil Nadu, Karnataka, Punjab, Haryana, Andhra Pradesh, Kerala and
Gujarat
(4) Jammu and Kashmir, Himachal Pradesh, Uttarakhand, Andhra Pradesh and Kerala
Which one of the following states recorded the highest population in the Census 2011 ?
(1) Uttar Pradesh (2) Maharashtra  (3) Bihar (4) West Bengal
Which region of India is known as the ‘Rice Bowl’ ?
(1) Indo-Gangetic Plain (2) Krishna-Godavari Delta Region
(3) North Eastern Region (4) Kerala and Tamil Nadu
Which one of the following data can be represented by means of choropleth map ?
(1) Location specific (2) Point specific
(3) Area specific (4) Line specific
o-soss | VRCANAN 2 Faper



63.

64.

65.

66.

67.

IRA | SEEA1 ! TUAT 1 1 Y& 31 & 999 § 2 fhd T3 /989 TF &9 7 AR e fan
ST TATT T © ?

(1) STET=E ool (2) ¥

(3) F@ 4) TR

a9 2013-14 H ford ToF TE &1 ¥l e 3¢ (SH.ELdT.) fewm, Seen & feg iR dmifas
&9 o e 9 aifesk a1 ?

(1) STEUI=d Ye¥, RIS, STHH, HEe, SUe SR o™

(2) TR UL, fRER, 7L Y9, RS, TSI, STEE IR ATR

(3) HERTY, AHETg, Ffesh, s, SRAT, STy Y, HIA TR o

)
)
)
)

(4) 7 R HYR, feu=e Iev, ITWEE, Y U IR

g9 2011 st S0 § frAafafaa § 9 feg 5o 9 998 stfys sagen e &t T o ?

(1) SWI (2) TERTE (3) fmeR (4) e e

YRA T S G185 ' 9 1w’ o &9 foeam g2
(1) fory - 7w HeA (2) FOM-TEER S &

(3) e & (4) A AR g

frefafaa § @ =0 @ iser auiarst fafy amfas & Treaw | wwqd o < dehar 82
(1) T fafire 2) fog fafire
(3) mifee &= fafime (4) @ fafie

o-sos [ FHL A .



68. Match List - I with List - IT and select the correct answer from the codes given below :

List -1 List - II
(Aspect) (Diagram)
(a) Rural and Urban Population (i) Comparative Bars
(b) Population density (ii)  Isolines
(c) Relative relief (iii) Dots and spheres
(d) Decadal Population Growth (iv) Choropleth
Codes
@@ () (o (d)
W ) @) 0 G
@ O @ @) @)
@) () O @) ()
@) ) ) @ 0

69. Which of the following diagrams are called Pie-diagrams ?
(1) Pictorial diagrams (2) Circle and sector diagrams

(3) Ring diagrams (4) Sphere diagrams

70. Match List - I with List - IT and select the correct answer from the codes given below :

List - I List - II
(Satellite) (Altitude)
(@) IRS-1A (i) 36,000 kms
(b) SPOT-3 (i) 705 kms
(c) LANDSAT -V (i) 932 kms
(d) INSAT Series (iv) 832 kms
Codes

(@ (b) () (d)
1) i) @) G )
(2) (v) @) @ @)
G) @ @ @) ()
@) @

i) (i) (@v)

i) (
o-soss [ LI
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68. EIT - I ! Gul - I1 & §1e GAfard & R = fSu 70 %31 & 9 9t S &1 =997 A

Tt - 1
(aer)
T 7R I STTEE

SEET T S

c) HE IEd

d) <= SEen 3fg

@@ (b)) (o (d)

1) (Gv) () @O )
2 @ @ @) (@)
G) @ @ @v) ()
4 @) (@Gv) @) ()

Tt - 11
(ZTIU™)
(i) g SR
(i) wHE
(i) fog & e
(iv) PRI

69. frAfafed & 3 fort el 1 JIRE el A1 & ?

(1) f=ftw e
(3) I @

70. Gt - 1! Gl - I1 o 919 gafad w{ iR 7= fou T F20 § 9 @&t ST &1 =21 a1

gt - 1
(#ewmEe )
(a) SIE.IRTE. - 1A
(b) EiE-3
(©) dugde - vV
d) 3T fods
<
(@ () (9 (d)
1) @) Gv) G ()
(2 (v) @) @ G
®3) (n) (1) (iv) (111)
(4) (iii)

D-8015 ‘

(2) 1 3R guEs M@
(4) I NG

Tl - 11
(SeTE)
36,000 for .
705 Tk 4.
932 fer. .
832 fer. .
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71. Among the following water which will have highest spectral reflectance in visible band ?
(1) Clear water (2) Clay filled/Suspended water

(3) Algae mixed with water (4) Silt and Algae mixed water

72.  Which of the following will happen when satellite images are geo-referenced ?

(1) Contrast of images are improved (2) Positional errors are removed

(3)  Errors in DN values are removed (4) None of the above

73. Match List - I with List - IT and select the correct answer from the codes given below :

List - I List - II
(Linear lengths) (Fractional measures)
(a) Nanometre () 1076
(b) Micrometre (i) 109
(c) Millimetre (iii) 10~°
(d) Metre (iv) 1073
Codes :

(@ (b) (o) (d)
1) () @) G ()
(2) i) @v) @O 3
G) @) @ (@) @)

(iif)
(il

1ii

i)

i) (iv)

) (
o.aos |
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71. TrAfafed § 9 {69 96R & 5@ 1 g 981 § 999 Afyes gfafarsm g ?
1) fra s« () T fagge/ fefaa s

(B) Yo fufsa si@ (4) daS AR e Thfya S

72. Heame fomi % -wHefva g W fr=fafed § @ == =feq gm 2
(1) forali & fouata & gur @i g |

1
2) feafa fawas Ffeai @ & ot 71

)
)

(3) ELTA. gedi st qfeal FH & S T
)

(4) SR H @ B

73. el - 1 & Gel - [1 % 9 gafad w¢ R T U 10 F2 8 9@ I &1 997 &

T -1 T - 11
(T &g (Rrsfta o )
(a) AR G 106
(b) HTEHIHI (i) 100
(c) ThefHrex (i) 10~°
(d) HrX (iv) 10-3
He :

(@ (b) (o) (d)
(iv) (@) @) ()
(i) @(v) @ (i)
(i) @) (v) (i)

( ) (
MR

i) (i

i) (iv)

D-8015 3

N
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74. Lorenz curve is used to find out which of the following ?
(1) Relative concentration of a phenomenon
(2)  Absolute concentration of a phenomenon
(3) Both relative and absolute concentration of a phenomenon

(4) Probability of dispersion of a phenomenon

75. Match List - I with List - IT and select the correct answer from the codes given below :

List - I List - II
(Bands of Energy) (Wavelength in pm.)
(a) Photographic i 3.0-150
(b) Optical (i) 0.7-3.0
(c) Reflected Infrared (iii) 0.3 -15.0
(d) Far Infrared (iv) 03-09

Codes :

@@ () (o (d)
1) () @) G )
2 @O G @) @)
() @) @ (@) (@)
@) @@ @Gv) @ (i)

-00o0-

o-sos [ NN ;
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74. Tr=fafea ¥ 9 foage gar oM & faT oS o6 1 326 foan s g2

(1) TwEt qea %1 e T

(2) et 92 =1 3= ah=u

(3) fowdl dea < WUE SR T Al Hohgul
(4) Torelt 92 & YRV HI F9AA

75. et - 1 1 Geit - 11 % 91 gAfad ¢ iR 9= fou 7o %2 § 9 W 3o H1 =997 A

Tt - 1 Tl - 11
(Ft-%) (- wrgeRTHET 7)
(a) IR () 3.0-150
(b) UM (i) 0.7-3.0
(c) ufdafafed sTerer (iii) 0.3 - 15.0
d) T T (iv) 0.3-09
HE ¢

@@ (b)) (o (d)

1) Gv) (@) G 6

2 @ @ @) (@v)
() i) @ (@) (@)
4 @) (@v) @ ()

-00o0-

o-sos [ FHL A .
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